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QUESTION 1

Which statement is true about the relationship between HTTP and WebSockets? 

A. A WebSocket connection is a bi-directional HTTP session with message-handling support. 

B. A WebSocket connection is initialized with an HTTP handshake. 

C. A WebSocket connection can be initialized by either client or server. 

D. A WebSocket connection uses HTTP protocol to exchange data with the browser. 

Correct Answer: D 

 

QUESTION 2

Given: 

What code needs to be added to line 1 for MyMapper bean instances to be correctly passivated? 

A. @Stateless @PassivationCapable 

B. @Stateless 

C. @Stateful @PassivationCapable 

D. @Stateful 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/tutorial/doc/giplj.html#gipln 

 

QUESTION 3

A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled
once a year. This equipment is charged based on its consumption without a project dependency. 

At this point, it should be transferred out of the vendor\\'s warehouse for maintenance and then returned back in the
future depending upon the requirement. 
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The material stock transfer should happen with an offline approval and with an account alias as a logical reference. 

What is the ideal way to handle this process? 

A. Transfer Order 

B. Requisitions 

C. Move Request 

D. Miscellaneous Transaction 

E. Subinventory Transfer 

Correct Answer: D 

 

QUESTION 4

You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a
supplier. 

Where do you mention that this Inventory Organization is meant for one particular supplier? 

A. Manage Inventory Organization Locations 

B. Manage Subinventories 

C. Manage Inventory Organizations 

D. Manage Contract Manufacturing Relationships 

E. Manage Item Organizations 

Correct Answer: C 

 

QUESTION 5

A Java EE application that uses an EJB container must communicate with a legacy system developed using non-Java
technologies. 

Which two Java EE technologies can be used in the integration tier of the application? (Choose two.) 

A. JMS 

B. JSF 

C. JPA 

D. JCA 

Correct Answer: AB 
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